A, B ARREo] BA10] 3 9 St 2Ish BohA 4 gl ol
o] A WA A7t 2 U B AYT F B 6 A B Y
Zorka ek B 7h EAA AL sl ojde] el At

ORI ® 10¢ ® 114 @ 12¢ ® 15 ¢



100L E°0] 259 ASARZ 15 8, BSAR 20 & S0t
A 2] g o] YA, A TAR 0 E BIAR 4 E

7HE Aa gt A SARY LS oW W Ryt

Ffolat

D L
=%

g



3.

A, BT Ahgol st 6 4 A2
B7H12 4 Qa4 gAgty gk A 7k &

e e R

R B = =1

L Zz}o]o

A o



® 154 ® 204 @ 25 Y ® 30<¢

D 10¢



o) T
Mo mF

@ 50 7} @ 68 7} @ 72 7Y ® 84 7}

@® 10 7H



A, B 5 AFFo] o] 48 5t 6 4 A= A

: 213 5 6 o 13 A7t 9 AT T,
el B 7 14 9E Aokod BupAh A 7k EAA UL e

o] 2 A=

ORI ® 104 ® 124¢ @ 15 ¢ ® 20¢



= O z‘ AA = AN
o] 9 WA A L8 A B AL T B} 12 U T HYS
TULTED Stk WOF, 4, B b EAA UL @k 27t ool
Aol Lok tebd A9

AZA AL |10 |10 |15 | 20 | 20
BEx 432 4|20 30|15 | 15 | 20

5 J=X
=%




on
i~

=
TR
o)
Ho
ol

0
—

o
!
e
R
el

02 ol

=
R
g

Ju
g2 o

RS AU MR

0



AA st o] Aen] 15

<
=

0|7}



Atetol @A st wdol7t 6 4, Ad-gelrt

D 10¢ @ 12¢ B 14¢ @ 16Y ® 18¢Y



11. 4, BS Ao] 2]
B7H10 2 3he] 2
Tsfofet.

5 L
3%



12. 84, 5K, 7]d0]7} 37 B o] 540m? Q1 =2 WH|7] & st=tl] 9 ¢
Aok 71@olrt s 12 o, S E o} 7] Holvt 5H 15 Ao

ol A& &
Aty gtk £ 9 SHuk BH| 7|2 stohd = Al 512
W71 B 4 9l ] el A, el bl

2
® 28m @ 39m? ® 42m? @ 49m? ® 54m?



